Process Event yields

ZH(my = 125GeV, Mo = 1GeV) 69.2 + 8.4

ZH(my = 125GeV, myo = 10 GeV) 68.6 + 8.4
ZH(myg = 125GeV, mzo = 30 GeV) 535+ 6.5
ZH(my = 125GeV, Mz = 60 GeV) 47.7 £ 5.8
ZH(mp = 125GeV, mzo = 65GeV) 40.0 4.9
ZH(my = 125GeV, myo = 95 GeV) 40.3 +4.9
ZH(my = 125GeV, mz = 120 GeV) 39.0 +4.38

ZH(my = 125GeV, Mmyo =95 GeV) T = 100mm 39.3 +4.38
ZH(mu = 125GeV, mzo = 95GeV) 130 = 1000 mm 17.6 £2.2
ZH(my = 125GeV, myo = 95 GeV) T =10000mm 2.6 +0.3

ZH(myg = 200 GeV, Myo = 170 GeV) 131+ 1.6
ZH(myg = 300GeV, m 7 = 270 GeV) 3.5+ 04
ZH(myg = 400 GeV, myo = 370 GeV) 1.2+0.1
Ly +Z +jets 0.6 04
Wz 1.24+0.3
77 0.3 £0.1
WW + top-quark 20£1.7
Total background 41+18

Data 4




